By x@AL 10l 25 EmEtnERAR KA

#8 : #2(5081) (Yo% (SoL]) £RXA#: 10145628168 % 18
2389 ¢ RWEHF R BB EIREL P20 B 2 [ A% | B

[RTHAMER] xEEAMFARERE - BREABRL)BEF B2 AHBEHEZTAE ! |

1.Evaluate the following problems:

M |- 2°°Sy_dy (10 points)
sin” y+siny—6

) j(x2—5x)e*dx (10 points)

(3) lim3(x—+vx*+x) (10 points)
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2. Given that |0 , solve for the matrix W. (10 points)
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3. Under what conditions on x will the matrix |v2 x /2| fail to have an inverse? (10 points)
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4. Determine whether or not the vectors ': 1jl, jH:J are linearly dependent. (10 points)

5. Find volumes of the solids of revolution if the region bounded by the curves y = 2x — x%, y = x* — 2x is
rotated around:
(1) the y-axis (10 points)
(2) y =x+ 2 (10 points)

6. What is the maximum of the function f{x) = 8x”- 12x* + 6x - 1 in [-1, 2]? (10 points)

7. Using the squeeze theorem to prove that lingxsinx =0 (10 points)




